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FEEEIZA CA ™ B 10 ke 1, 728 1,296 | 3V AE K 15 ke 4, 860 2, 160
L EW %W 15 ke 3, 780 2, 160
& p Y = 10 ke 2, 160 1, 080
L&A L JE 10 ke 3, 240 1, 620
Xy oY = 5 ke 1, 296 864
AachH A 5 ke 1,944 1, 836
b=k g K 4 ke 1,404 —
B— 5 A 150 g - 91 —
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A LW (— 100 g| =~ 162 91
LD £ ¥ 100 g 75| 59




Bh R ESEHSE® 0 58 68 B E Ak EH R EEHKE 69 t

N

B

B o ATRTEILETEE A BT AEN [ 34 t ] [ 9t ] [#5F 26t ]
| H {z:H FaaAs)

fief y=<t o i} T
t H FEEM | B A | &m O Z E B H FEEM | B | & E % fE
AFECAHE i 1ks 2,030 1,728 | BV TAUD 1 ke 2, 160 864
mESAHE K lke | - 1,188 756 |. HEH S - JVT7xz—| 1lke 1, 080 432
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AT A 1 kg 216 129 | FU AV It E 1ksg 3, 240 1,080
ANVAALTT (I 1 ke 1,090 7 | ATV A 18 194 54
JEANT T w5 1ke | 1,242 1259
EXA = IE 1 ke 1, 080 216
{EH = L 1 ke 1,728 1, 080
INTE = I 1 ke 1, 620 540
7% RE A 1 ke 1, 080 432
oA H i 1 ke 3, 240 1,620
| oA + % 1ke 1,728 - 540




